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What do you have to keep in mind when overwriting characteristic for a specific class?

 
A. This change applies only to the characteristic, when it is used in this class. 
B. The status of this characteristic is automatically set to locked. 
C. This change applies only to the characteristic, when it is used in every class. 
D. The status of this characteristic is automatically set to incomplete.  

 
Answer: A

 

 

Which secure storage areas can be used inside a document info record?Note: There are 2
correct Answers to this question.

 
A. HTTP Content Server 
B. FTP File Server 
C. SAP Database 
D. RFC Archive  

 
Answer: A,C

 

 

You use the app Find Objects in Classes. How do you find a class?Note: There are 2
correct Answers to this question.

 
A. Via hierarchy 
B. Via change number 
C. Via assigned characteristics 
D. Via Class BOM  

 
Answer: A,C

 

 

Which organizational level is a Work Center assigned to?

 

Question No : 1

Question No : 2

Question No : 3

Question No : 4
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A. Plant 
B. Storage location 
C. Client 
D. Production supervisor  
 
Answer: A

 

 

When or why do you assign production resources and tools to an operation?
 
A. To map the equipment of the Work Center with production resources and tools. 
B. To make additional production resources and tools available that do not belong to the
equipment of the Work Center. 
C. To provide additional components which cannot be assigned to the BOM. 
D. To make them available for operation inspection only.  
 
Answer: B

 

 

You can use the syntax element $set_pricing_factor for pricing in object
dependencies.What do you need to consider?Note: There are 2 correct Answers to this
question.
 
A. Negative factors must not be used in $set_pricing_factor. 
B. $set_pricing_factor sets the variant condition and adds a factor to it. The variant
condition must not already be assigned. 
C. You cannot use zero as a factor in $set_pricing_factor. 
D. $set_pricing_factor adds only one factor. The variant condition must already be
assigned.  
 
Answer: B,C

 

 

The Work Center provides default values for the routing.Which of these default values is a
mandatory entry if an operation is created in the routing?
 

Question No : 5

Question No : 6

Question No : 7

3

SAP C_TS411_2022 : Practice Test



A. Standard text key 
B. Control key 
C. Standard value key 
D. Work Center  
 
Answer: B

 

 

Which prerequisites must be fulfilled before a configuration profile can be created and
released for a configurable material?
 
A. At least one variant class must be assigned to the configurable material. Values must be
assigned to the characteristics here. 
B. At least one variant class must be assigned to the configurable material. 
C. At least one variant class must be assigned to the configurable material. Values must
not be assigned to the characteristics here. 
D. Exactly one variant class must be assigned to the configurable material.  
 
Answer: C

 

 

You can assign object dependencies to different master data.Which assignments have no
effect in variant configuration and only affect classification?
 
A. Assignment to Classes 
B. Assignment to Characteristic Values 
C. Assignment to Configuration Profiles 
D. Assignment to Characteristics  
 
Answer: B

 

 

Working with the document status, what should you keep in mind?Note: There are 2
correct Answers to this question.
 
A. It can be set at object link level. 

Question No : 8

Question No : 9

Question No : 10

4

SAP C_TS411_2022 : Practice Test



B. It can only be defined plant specific. 
C. It can be defined as a status network. 
D. It can be defined depending on document type.  
 
Answer: C,D

 

 

You create a new characteristic with numeric values and you only set a single value
assignment. You add one interval inside value tab. What does it mean for classification?
 
A. The user can set values which don't belong to the interval. 
B. The user can select an interval inside classification. 
C. The user can select one value of the interval inside classification. 
D. The user can select several values out of the interval inside classification.  
 
Answer: C

 

 

Which configuration process/scenario do you use for an Engineer To Order process?
 
 
A. Planned/Production Order 
B. Order BOM 
C. Sales Order (SET) 
D. Engineering Order  
 
Answer: B

 

 

Which scenarios are available with the Maintain Bill of Material app?Note: There are 2
correct Answers to this question.
 
A. Create a Version BOM. 
B. Attach a change order. 
C. Define Software Constraints. 
D. Display Valid From and Valid To information.  
 

Question No : 11

Question No : 12

Question No : 13
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Answer: A,C

 

 

You work with a Plan./Production Order without BOM explosion scenario.Which information
is available?Note: There are 2 correct Answers to this question.

 
A. In the sales order, no information about the BOM is displayed except the routing. 
B. In the simulation, no information about the BOM is displayed except the routing. 
C. In the simulation, information about the BOM and routing is displayed. 
D. In the sales order, no information about the BOM and routing is displayed.  

 
Answer: A,C

 

 

Some of your classifications are locked or incomplete. How do you find them?Note: There
are 2 correct Answers to this question.

 
A. Use the Characteristics list. 
B. Use Find in Classes and filter the search result. 
C. Use the Classification status. 
D. Use the Class list.  

 
Answer: B,C

 

 

The customer wants to see the cross-plant material status inside the object search in
classification. How do you satisfy the customer's requirement?

 
A. Add the cross-plant material status field to the database classification table. 
B. Change the screen sequence of the classification view. 
C. Create a custom data type in customizing. 
D. Create a reference characteristic.  
 
Answer: D

 

 

Question No : 14

Question No : 15

Question No : 16
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You define a Product Master from scratch and a pop-up becomes visible. Which data do
you have to enter?Note: There are 2 correct Answers to this question.

 
A. Description 
B. Industry Sector 
C. Product Type 
D. Organizational Level 

 
Answer: A,C

 

 

What do you have to keep in mind when creating a Product Master from scratch?Note:
There are 2 correct Answers to this question.

 
A. No view selection screen becomes visible. 
B. No organizational levels are asked. 
C. Only files can be connected and uploaded, no document info records. 
D. An industry sector can be selected. 

 
Answer: A,B

 

 

Which scenarios are possible when you upload files to a Product Master?Note: There are 2
correct Answers to this question.

 
A. You can easily attach a Document Info Record. 
B. You cannot attach a Document Info Record. 
C. You can easily upload a file without selecting a Workstation Application and a Content
Server. 
D. You can easily upload a file, select a Workstation Application and a Content Server.  

 
Answer: A,C

 

 

Question No : 17

Question No : 18

Question No : 19

Question No : 20
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What objects can be changed with a change number? Note: There are 2 correct Answers
to this question.
 
A. Bills of Material 
B. Cost Centers 
C. Work Centers 
D. Task Lists  
 
Answer: A,D

 

 

What controls the material BOM item category?Note: There are 2 correct Answers to this
question.
 
A. A work center is required. 
B. A change number is required. 
C. A material number is required. 
D. A negative quantity is allowed.  
 
Answer: C,D

 

 

Which special feature must be taken into account for the material master of material
variants for use in logistics?
 
A. The material master requires a link to the configurable material at sales area level. 
B. The material master at client level requires the indicator that it can be configured. 
C. The material master requires a connection to the configurable material at client level. 
D. The material master requires a link to the configurable material at plant level.  
 
Answer: D

 

 

What is the significance of the control key?Note: There are 3 correct Answers to this
question.
 
A. It is a value that can be used as a default value in the routing. 

Question No : 21

Question No : 22

Question No : 23
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B. It is an optional field in the Work Center. 
C. It is a value that can be copied to the routing as a reference. 
D. It defines the usage of Work Centers in routings. 
E. It is a mandatory field in the Work Center.  
 
Answer: A,C,E

 

 

Which material types are used for configurable material masters?Note: There are 2 correct
Answers to this question.

 
A. Material type KMAT - configurable materials can only be created with this material type. 
B. Material types KMAT, HALB, and FERT - configurable materials can only be created
with these material types. 
C. Each material type can be used in standard customizing for configurable material
masters. 
D. Material type KMAT - each material master of this material type can be configured in a
fixed way.  

 
Answer: A,C

 

 

A user releases a document info record with a change number. What effect does this action
have on the document info record?Note: There are 2 correct Answers to this question.

 
A. All document fields are locked. 
B. The document gets a revision level. 
C. The document displays the release key of the change number. 
D. The document info record uses the validity of a change number.  

 
Answer: B,D

 

 

Which routing objects can object dependencies be assigned to?Note: There are 3 correct
Answers to this question.

 

Question No : 24

Question No : 25

Question No : 26
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